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Inputs:
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Training:
For t =1,....T":

* Find the current best weak learner: h; = argmin E Dy (i)
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Training:
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Training:
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* Find the current best weak learner: h; = argmin E Dy (i)

1
eSet oy = 3 log

e Update the weights
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Training:
For t =1,....T":

* Find the current best weak learner: h; = argmin E Dy (i)

i/yi # h(zi)
1 1 —¢€ :
e Set oy = 5 log Lo = Z Dy (2)
“t ify; # hiz)
_ Di(v)exp(—azy;he(x;
e Update the weights Dyy1(7) = 40, p(Z Yihe (i)
t
Training set Weak learners
Py (7) Update (Lh h h |l h 7‘[\
| Distribution

i polin




AdaBoost

Test:




AdaBoost

Test:




AdaBoost

Test:
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Test:

For any novel example € X :

T
* The strong classifier returns H(:B) = S1gNn (Z o hy (:B) )
t=1
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Test:

For any novel example € X :

T
* The strong classifier returns H (x) = sign (Z ahy (33) )
t=1
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Face Detection
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